L2

L1

S1

L

7 <
@:f’

<\// 0O-Ring
,07 R

® |SO 12151-2 RAURF24° OB BERE

D2
YEWE(DN)

n BRI/ REET, &P
» B REEBREHE

Plug-in hose connector / *ﬁ)\ﬁﬂigg%

20441-PO
HEFEIR345° T4k

Swivel nut 45° elbow

m |SO 12151-2 Light series 24° cone O-ring seal
m Generally available in carbon steel/galvanized surface, brass
® Fluororubber seals available

MEIMZ HEAR Rt VAV::] PRLL s = ERZRig
D1 D2(DN) D2(in) L1 L2 L3 S1 P1 Type Product Code
6 6 1/4 37 56 21 14 M12x1.5 20441-06-04PO HF22820604
6 1/4 31 51 16 17 M14x1.5 20441-08-04PO HF22820804
10 10 3/8 37 59 19 19 M16x1.5 20441-10-06PO HF22821006
12 10 3/8 37 60 19 22 M18x1.5 20441-12-06PO HF22821206
15 12 1/2 43 69 21 27 M22x1.5  20441-15-08PO HF22821508
18 16 5/8 46 83 23 32 M26x1.5 20441-18-10PO HF22821810
22 20 3/4 60 97 26 36 M30x2  20441-22-12PO HF22822212
L2
ﬁ
- g 20491-PO
Tl : BEFREO0°THESL
i Swivel nut 90° elbow
O-Ring
D1|
WHESNE
P1_|
= |SO 12151-2 RARFI24° OB EZ £ m SO 12151-2 Light series 24° cone O-ring seal
m BAME SR/ REE, =2 = Generally available in carbon steel/galvanized surface, brass
= O] {2 AR IR 2 = Fluororubber seals available
MEIMZ BEAR Rt VAV::] PRLL iths = ERdRig
D1 D2(DN) D2(in) L1 L2 L3 s1 P1 Type Product Code
6 1/4 23 42 36 14 M12x1.5 20491-06-04PO HF32820604
6 1/4 23 41 29 17 M14x1.5 20491-08-04P0O HF32820804
10 6 1/4 23 42 31 19 M16x1.5 20491-10-04PO HF32821004
10 10 3/8 27 49 35 19 M16x1.5 20491-10-06PO HF32821006
12 10 3/8 27 49 35 22 M18x1.5 20491-12-06PO HF32821206
15 12 1/2 34 60 41 27 M22x1.5 20491-15-08P0O HF32821508
18 16 5/8 37 T4 45 32 M26x1.5 20491-18-10PO HF32821810
22 20 3/4 46 83 55 36 M30x2 20491-22-12PO HF32822212

P.89



